Parametric Equations

Cirele cenbre (0,03 reative

- ("Cof(g'

(')t)])

pa
'3 = Y'.S.lr\(g" —

—[cr 0.4_(9'42«

Fl wA lwrs é‘s ;"'"L ecba\

23 LY
:fc_aS§'

2
X
%L = (FL _("l-qz‘}

[ 1 T
xL,;- .31 = r CCDS G A+ Stn @-3

xlrj‘:r"

Ee 2 fll;f54
X = &« cas &
3 - L g;ulﬂ'

F\-\J L@r(’&]tt - <7"\

- C.cs(@

= S‘cn @

-

0"|vc 9|7‘<

/
N

~-C

1)
\




X = s @
AL
+
l = f‘“‘l@_
L'z
YA
~C. T
T e "'i = Laﬂm@' "‘(S(“"\&
4 L™
+ 2
DC;- r{-l = {
4 L*
Ex3 Cornlof « = :Qti
Ec« € Q@O
2
X = Scot 2& LJ:Z cim"2€
~ 2
—_— e e i-— .
3 Zo 2 % - S'(v-\’LZ)C

) b cot 2E = cosce 26 =
Sin-2¢&



n

0

(\
\,.r] i u\w Lo\u- ‘ —

6L € =«0
4(—-

x = 3 cst2e

o = 3 Con L0
Sr—(‘(z-xo)

xX < 36‘0‘132:
Su= g

X o

- 2

- o



